
 
 

    Level 5 SAT question 
 

5.2.  The sketch below shows a new statue made from sandstone.  In many years  
         time the statue will look different due to weathering. 
 

 
 

(a)  Describe two ways in which the statue will look different due to weathering. 
 
       1. …………………………………………………………………………………….. 
 
         ………………..…………………………………………………………………….  
 
       2. ……………………………………………………………………………………. 
 
         ……………………………………………………………………………. 2 marks 
 
(b)  Tick two ways in which weathering of the statue can take place. 

 
(c)  A different statue was made from limestone.  Rain makes limestone weather  
      more quickly than sandstone.  What substance in the rainwater causes this? 
 
      ……………………………………………………………………………. 1 mark 
 

                 Maximum 5 marks 

Water freezes 
on it. 

The weather 
around it 
becomes warm. 

Plants grow 
on it. 

Atmospheric 
pressure on it 
increases. 2 marks 

 

 

 


